. 5138 IVECO TRAKKER/STRALIS AD/AT
@ VZPRO OY sun visor fitting instructions

1203 Cover collar 8 pcs 1202 Cover hat 8 pcs
1035 Washer 6x18mm 8 pcs 1204 Gasket 4 pcs
1009 Screw M6x30mm 8 pcs 1010 Screw M6x20 4 pcs
1073 Nut M5 2 pcs 1074 Washer M5 2 pcs
1003 Nylok nut M6 8 pcs 1212 Rubber washer 3mm 8 pcs
1211 Rubber washer 6mm 8 pcs 1044 Hexacon screw M8x25 6 pcs
1013 Washer M8x17 6 pcs 3687/8 Sidebracket 1 pair
3689/90 Center bracket 1 pair 3691 Center tube bracket 1 pc

1018 Screw M5x25mm 2 pcs 5138A Plastic part 1 pc

Osoite/Address Puhelin/Telephone Telefax Pankki/Bank P L as JC |C
Tehtaankatu 21,
11710 RIHIMAKI OKO 539602-254945

FINLAND + 358 19 724 000 + 358 19 720 765 Sampo 800016-70104554 FI09001798



